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Find the next two terms of each sequence.
1. 3, 6, 12, 24, …




2. 89, 78, 67, 56, …
3. 5, 1, 7, 0, 9, (1, 11, . . .



4. 4.5, 0.5, 5.0, 0.6, 5.6, 0.7, 6.3, . . .
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5.    

Find a counterexample for each statement.
6. All odd numbers are prime.
7. If a parallelogram has four congruent sides, then it is a square.

For the given conditional, circle the hypothesis and underline the conclusion. Write the converse, inverse, and contrapositive for each true statement. Determine the truth value for each.  Provide a counterexample if false.
8. If a polygon is a triangle, then it has exactly three sides.


Converse

Inverse

Contrapositive
9. If Jerrod is in 11th grade, then he is in high school.

Converse


Inverse


Contrapositive

Each conditional statement below is true. Write its converse. If the converse is also true, combine the statements as a biconditional.  Provide a counterexample if false.

10.  If two angles form a linear pair, then they are supplementary and adjacent.

Converse

Biconditional
11.  If two angles are vertical angles, then they are congruent.
Converse


Biconditional

Name the property that justifies each statement.
12. m(ABC = m(DEF

13. AB = CD, CD = EF. 

14. x + 7 = 5
     m(DEF = m(ABC
    
     Therefore, AB = EF.

     x + 7 ( 7 = 5 ( 7
15. x = y; If x = 18, then y = 18.


16. (A ( (A
Find the value of each variable and the measure of the labeled angles.
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17.




18.



19.

20. Reasoning Use the diagram at the right to complete the proof that m(ACD = 130 by filling in the missing steps.

	Statements
	B
Reasons

	A. m(ACB + m(BCE = 180
B. 5x + 9x + 40 = 180
C. 14x + 40 = 180
D. 14x = 140
E. x = 10
F.  m(BCE = 9(10) + 40 = 130
G. (BCE ( (ACD
H. m(ACD = 130
	A. 
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E.   
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H. 



21. 
Statements



Reasons

A. _________________________________
A.________________________________

B. m∠FED + m∠DEW = ________
B. ________________________________

C. m∠FED + m∠DEW = m∠FEW
C._________________________________

D.___________________________________
D. Transitive Property of =

E. __________________________________
E. Definition of a right angle
